THE CITY OF ROUND ROCK

Utilities & Environmental Services

2008 Enterprise Drive Round Rock, Texas 78664

BIDS EXTENDED	ANU	CHEC	LKEU
---------------	-----	------	------

BY: Dillon Johns

DATE: 12/19/2017

BID TABULATION

SHEET: 1 of 4

CONTRACT : Parkfield Circle Culvert Rehabilitation			Quadex Lining Systems, LLC		Proshot Concrete, Inc.		Boretex, LLC		D&S Concrete Contractors		
LOCATION: 2008 Enterprise Drive				Statement of Safety? Yes		Statement of Safety? Yes		Statement of Safety? Yes		Statement of Safety? Yes	
DATE:	DATE: 12/19/2017				Yes	Addenda?	Yes	Addenda?	Yes	Addenda?	Yes
TIME:	2:00pm	Bid Bond?	Yes	Bid Bond?	Yes	Bid Bond?	Yes	Bid Bond?	Yes		
BASE BID											
		APPROX.		UNIT		UNIT		UNIT		UNIT	
ITEM#	ITEM DESCRIPTION	QTY.	UNIT	PRICE	COST	PRICE	COST	PRICE	COST	PRICE	COST
1	Remove P.C. concrete slab (riprap)	1600	S.F.	\$9.20	\$14,720.00	\$8.00	\$12,800.00	\$8.00	\$12,800.00	\$8.00	\$12,800.00
2	Channel Excavation	35	C.Y.	\$69.00	\$2,415.00	\$1,500.00	\$52,500.00	\$60.00	\$2,100.00	\$150.00	\$5,250.00
3	Remove P.C. concrete sidewalk	710	S.F.	\$9.20	\$6,532.00	\$7.50	\$5,325.00	\$7.00	\$4,970.00	\$8.00	\$5,680.00
4	Remove P.C. concrete curb & gutter	155	L.F.	\$9.20	\$1,426.00	\$20.00	\$3,100.00	\$11.00	\$1,705.00	\$21.00	\$3,255.00
5	P.C. concrete headwall	17	C.Y.	\$1,437.50	\$24,437.50	\$1,000.00	\$17,000.00	\$1,495.00	\$25,415.00	\$1,500.00	\$25,500.00
6	Concrete riprap	25	C.Y.	\$488.75	\$12,218.75	\$300.00	\$7,500.00	\$380.00	\$9,500.00	\$800.00	\$20,000.00
7	New P.C. concrete sidewalk	710	S.F.	\$9.49	<u>\$6,737.90</u>	\$10.00	\$7,100.00	\$11.00	\$7,810.00	\$12.00	\$8,520.00
8	Remove & discard existing railing	76	L.F.	\$13.80	\$1,048.80	\$20.00	\$1,520.00	\$15.00	\$1,140.00	\$15.00	\$1,140.00
9	Install new railing	81	L.F.	\$120.75	\$9,780.75	\$100.00	\$8,100.00	\$42.00	\$3,402.00	\$100.00	\$8,100.00
10	CMP inert repair	25	S.F.	\$100.00	\$2,500.00	\$150.00	\$3,750.00	\$30.00	\$750.00	\$300.00	\$7,500.00
11	Fill voids around CMP	25	C.F.	\$200.00	\$5,000.00	\$300.00	\$7,500.00	\$38.00	\$950.00	\$500.00	\$12,500.00
12	Lining of CMP (Invert)	1075	S.F.	\$44.18	\$47,493.50	\$60.00	\$64,500.00	\$20.00	\$21,500.00	\$35.00	\$37,625.00
13	Barricades, signs, & traffic handling	1	L.S.	\$1,150.00	\$1,150.00	\$18,330.00	\$18,330.00	\$9,200.00	\$9,200.00	\$8,000.00	\$8,000.00
14	P.C. concrete curb & gutter	155	L.F.	\$48.30	\$7,486.50	\$30.00	\$4,650.00	\$22.00	\$3,410.00	\$30.00	\$4,650.00
15	Repair concrete curb inlet	1	L.S.	\$1,437.50	\$1,437.50	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.00	\$12,000.00	\$12,000.00
16	Erosion control w/ rock berm	1	L.S.	\$300.00	\$300.00	\$1,050.00	\$1,050.00	\$1,900.00	\$1,900.00	\$4,000.00	\$4,000.00
17	Restoration/Revegetation	1	L.S.	\$500.00	\$500.00	\$1,700.00	\$1,700.00	\$6,500.00	\$6,500.00	\$3,500.00	\$3,500.00
	TOTAL BASE BID:				<u>\$145,184.20</u>		\$221,425.00		\$114,552.00		\$180,020.00

Italics and underline (\$XXXX.XX) indicate correction upon tabulation of bids where written unit price differed from unit price figures, or figures were otherwise not correctly entered.

Fill indicates written clarification requested after bid opening and received from bidder.

	alliantain that the second of	-		-								
				BID 7	TABULA'	TION						
Contr	act: Parkfield Circle Culvert Reh	abilitatio				11011				SHEET: 2 of	4	
		Ì	Quadex Linin	g Systems, LLC	Proshot C	oncrete, Inc.	Borete	ex, LLC	D&S Concrete Contractors			
ALTERNATE BID												
		APPROX.		UNIT		UNIT		UNIT		UNIT		
ITEM#		QTY.	UNIT	PRICE	COST	PRICE	COST	PRICE	COST	PRICE	COST	
A-1	Lining of CMP (Circumference)	2750	S.F.	\$32.46	\$89,265.00	\$55.00	\$151,250.00	\$20.00	\$55,000.00	\$20.00	\$55,000.00	
A-2	Barricades, signs, & traffic handling	1	L.S.	\$1,150.00	\$1,150.00	\$29,000.00	\$29,000.00	\$3,000.00	\$3,000.00	\$8,000.00	\$8,000.00	
N/A	Base Bid Items 1 thru 11 and 14 thru 17	N/A	N/A		\$96,540.70		\$138,595.00		\$83,852.00		\$134,395.00	
	TOTAL ALTERNATE BID:				<u>\$186,955.70</u>		<u>\$318,845.00</u>		<u>\$141,852.00</u>		\$197,395.00	
	ADD ALTERNATE NO.1											
ITERA 4	ITEM DESCRIPTION	APPROX.	LINUT	UNIT	COST	UNIT PRICE	COST	UNIT PRICE	COST	UNIT PRICE	COST	
ITEM#	ITEM DESCRIPTION Barricades, signs, & traffic handling	QTY.	UNIT L.S.	PRICE \$1,150.00	\$1,150.00	\$26,000.00	\$26,000.00	\$4,500.00	\$4,500.00	\$5,000.00	\$5,000.00	
AA1-2	CMP Invert Repair	40	S.F.	\$95.00	\$3,800.00	\$150.00	\$6,000.00	\$30.00	\$1,200.00	\$3,000.00	\$12,000.00	
AA1-3	Fill voids around CMP	25	C.F.	\$200.00	\$5,000.00	\$300.00	\$7,500.00	\$38.00	\$950.00	\$500.00	\$12,500.00	
AA1-4	Lining of CMP (Invert)	1800	S.F.	\$200.00	\$48,726.00	\$65.00	\$117,000.00	\$20.00	\$36,000.00	\$30.00	\$54,000.00	
AA1-4		105	L.F.	\$27.07	\$735.00	\$100.00	\$10,500.00	\$12.00	\$1,260.00	\$12.00	\$1,260.00	
AA1-3	Trim CMP (approx. 1") & seal edges TOTAL ADD ALTERNATE NO.		L.I.	\$7.00	\$59,411.00	\$100.00	\$167,000.00	\$12.00	\$43,910.00	\$12.00	\$84,760.00	
	TOTAL ADD ALTERNATE NO.	1:		ADD		TE NO 2	\$107,000.00		343,710.00		304,700.00	
					ALTERNA							
ITEM#	ITEM DESCRIPTION	APPROX. QTY.	UNIT	UNIT PRICE	COST	UNIT PRICE	COST	UNIT PRICE	COST	UNIT PRICE	COST	
AA2-1	Barricades, signs, & traffic handling	1	L.S.	\$1,150.00	\$1,150.00	\$39,000.00	\$39,000.00	\$4,500.00	\$4,500.00	\$4,000.00	\$4,000.00	
AA2-2	Lining of CMP (Circumference)	4950	S.F.	\$22.92	\$1,150.00	\$55.00	\$272,250.00	\$16.00	\$79,200.00	\$20.00	\$99.000.00	
N/A	Add Alt. No. 1 Items AA1-2, 3, and 5	N/A	N/A	322.72	\$9,535.00	00.00	\$24,000.00	\$10.00	\$3,410.00	\$20.00	\$25,760.00	
14/11	TOTAL ADD ALTERNATE NO.2:	14726	14/14		\$124,139.00		\$335,250.00		\$87,110.00		\$128,760.00	
	101/12/12/12/12/12/12/12/12/12/12/12/12/12			0	THER TO	ΓALS	00001200100		507711000		4.120,70000	
TO	TAL BASE BID + ADD ALTERNATE			\$204,595.20		\$388,425.00		\$158,462.00		\$264,780.00		
TO	TAL BASE BID + ADD ALTERNATE			\$269,323.20		\$556,675.00		\$201,662.00		\$308,780.00		
TO	TAL ALTERNATE BID + ADD ALT.			\$246,366.70		\$485,845.00		\$185,762.00		\$282,155.00		
					- Logo doi: 0		2100,010100		- Carlos Miles Asserting of	W	100	
ТО	TAL ALTERNATE BID + ADD ALT.	NO. 2:			\$311,094.70		\$654,095.00		\$228,962.00		\$326,155.00	
	nd underline (SVVVV VV) indicate correcti		1 4	Clil		1:00 1.0		C C		4 4		

Italics and underline (\$XXXX.XX) indicate correction upon tabulation of bids where written unit price differed from unit price figures, or figures were otherwise not correctly entered.

				BID T	'ABULA'	TION					
CONTR	RACT : Parkfield Circle Culvert Rehab	ilitation (C				11011				SHEET:	3 of 4
CONTINUE CARRIED CARROL REMARKATION (CONTINU				truction, Inc.	AARON Concrete Contractors, LP		Central Road and Utility, Ltd dba CRU, Ltd		National Power Rodding Corp.		
-						Contra	ctors, Er	Dia aba	ene, bu		,, þ.
LOCATION: 2008 Enterprise Drive			Statement of S	Safety? Yes	Statement of Safety? Yes		Statement of	Safety? Yes	Statement of Safety? Yes		
	12/19/2017			Addenda?	1 of 2	Addenda?	Yes	Addenda?	Yes	Addenda?	Yes
TIME:	2:00pm			Bid Bond?	Yes	Bid Bond?	Yes	Bid Bond?	Yes	Bid Bond?	Yes
	BASE BID										
ITEM#	ITEM DESCRIPTION	APPROX. OTY.	UNIT	UNIT PRICE	COST	UNIT PRICE	COST	UNIT PRICE	COST	UNIT PRICE	COST
1	Remove P.C. concrete slab (riprap)	1600	S.F.	\$10.00	\$16,000.00	\$12.00	\$19,200.00	\$7.60	\$12,160.00	\$8.25	\$13,200.00
2	Channel Excavation	35	C.Y.	\$55.00	\$1,925.00	\$280.00	\$9,800.00	\$127.00	\$4,445.00	\$60.50	\$2,117.50
3	Remove P.C. concrete sidewalk	710	S.F.	\$5.00	\$3,550.00	\$5.00	\$3,550.00	\$7.60	\$5,396.00	\$8.80	\$6,248.00
4	Remove P.C. concrete curb & gutter	155	L.F.	\$11.00	\$1,705.00	\$15.00	\$2,325.00	\$25.50	\$3,952.50	\$7.70	\$1,193.50
5	P.C. concrete headwall	17	C.Y.	\$1,200.00	\$20,400.00	\$1,475.00	\$25,075.00	<u>\$2,240.40</u>	<u>\$38,086.80</u>	\$1,375.00	\$23,375.00
6	Concrete riprap	25	C.Y.	\$650.00	\$16,250.00	\$630.00	\$15,750.00	\$1,147.50	\$28,687.50	\$412.50	\$10,312.50
7	New P.C. concrete sidewalk	710	S.F.	\$7.00	\$4,970.00	\$18.00	\$12,780.00	\$17.80	\$12,638.00	\$7.98	\$5,665.80
8	Remove & discard existing railing	76	L.F.	\$4.00	\$304.00	\$5.00	\$380.00	\$25.40	\$1,930.40	\$11.00	\$836.00
9	Install new railing	81	L.F.	\$75.00	\$6,075.00	<u>\$85.00</u>	<u>\$6,885.00</u>	\$125.00	\$10,125.00	\$104.50	\$8,464.50
10	CMP inert repair	25	S.F.	\$250.00	\$6,250.00	\$40.00	\$1,000.00	\$67.60	\$1,690.00	\$150.00	\$3,750.00
11	Fill voids around CMP	25	C.F.	\$250.00	\$6,250.00	\$128.00	\$3,200.00	\$125.00	\$3,125.00	\$80.00	\$2,000.00
12	Lining of CMP (Invert)	1075	S.F.	\$39.00	\$41,925.00	\$32.00	\$34,400.00	\$30.60	\$32,895.00	\$19.00	\$20,425.00
13	Barricades, signs, & traffic handling	1	L.S.	\$5,500.00	\$5,500.00	\$3,000.00	\$3,000.00	\$13,387.40	\$13,387.40	\$6,000.00	\$6,000.00
14	P.C. concrete curb & gutter	155	L.F.	\$25.00	\$3,875.00	\$41.00	\$6,355.00	\$70.10	\$10,865.50	\$40.70	\$6,308.50
15	Repair concrete curb inlet	1	L.S.	\$1,500.00	\$1,500.00	\$4,550.00	\$4,550.00	\$3,180.50	\$3,180.50	\$1,100.00	\$1,100.00
16	Erosion control w/ rock berm	1	L.S.	\$3,000.00	\$3,000.00	\$8,000.00	\$8,000.00	\$4,208.30	\$4,208.30	\$1,904.10	\$1,904.10
17	Restoration/Revegetation	1	L.S.	\$800.00	\$800.00	\$3,500.00	\$3,500.00	\$6,236.30	\$6,236.30	\$5,000.00	\$5,000.00
TOTAL BASE BID:					\$140,279.00		<u>\$159,750.00</u>		<u>\$193,009.20</u>		\$117,900.40

Italics and underline (\$XXXX.XX) indicate correction upon tabulation of bids where written unit price differed from unit price figures, or figures were otherwise not correctly entered.

Fill indicates written clarification requested after bid opening and received from bidder.

Contra	act: Parkfield Circle Culvert Reh	abilitatio	n (Cor	tinued)						SHEET: 4 of 4	
				TCB Construction, Inc. AARON Concrete Contractors, LP		Central Road and Utility, Ltd dba CRU, Ltd		National Power Rodding Corp.			
	value let " " " "			A	LTERNATI	E BID					
		APPROX.		UNIT		UNIT		UNIT		UNIT	
TEM#	ITEM DESCRIPTION	QTY.	UNIT	PRICE	COST	PRICE	COST	PRICE	COST	PRICE	COST
A-1	Lining of CMP (Circumference)	2750	S.F.	\$35.00	\$96,250.00	\$32.00	\$88,000.00	\$30.60	\$84,150.00	\$21.00	\$57,750.0
A-2	Barricades, signs, & traffic handling	1	L.S.	\$6,500.00	\$6,500.00	\$1,350.00	\$1,350.00	\$7,468.30	\$7,468.30	\$7,500.00	\$7,500.0
N/A	Base Bid Items 1 thru 11 and 14 thru 17	N/A	N/A		\$92,854.00		\$122,350.00		\$146,726.80		\$91,475.4
	TOTAL ALTERNATE BID:				\$195,604.00	-	<u>\$211,700.00</u>		<u>\$238,345.10</u>		\$156,725.4
ADD ALTERNATE NO.1											
		APPROX.		UNIT		UNIT		UNIT		UNIT	
ITEM#	ITEM DESCRIPTION	QTY.	UNIT	PRICE	COST	PRICE	COST	PRICE	COST	PRICE	COST
AA1-1	Barricades, signs, & traffic handling	1	L.S.	\$5,000.00	\$5,000.00	\$2,700.00	\$2,700.00	\$7,468.30	\$7,468.30	\$2,500.00	\$2,500.0
AA1-2	CMP Invert Repair	40	S.F.	\$125.00	\$5,000.00	\$39.00	\$1,560.00	\$48.40	\$1,936.00	\$20.00	\$800.0
AA1-3	Fill voids around CMP	25	C.F.	\$216.00	\$5,400.00	<u>\$128.32</u>	\$3,208.00	\$77.50	\$1,937.50	\$75.00	\$1,875.0
AAI-4	Lining of CMP (Invert)	1800	S.F.	\$29.00	\$52,200.00	<u>\$28.00</u>	\$50,400.00	\$30.60	\$55,080.00	\$15.00	\$27,000.00
AA1-5	Trim CMP (approx. 1") & seal edges	105	L.F.	\$65.00	\$6,825.00	\$12.00	\$1,260.00	\$38.20	\$4,011.00	\$35.00	\$3,675.0
	TOTAL ADD ALTERNATE NO.	l :			\$74,425.00		<u>\$59,128.00</u>		\$70,432.80		\$35,850.0
				ADD	ALTERNA						
ITEM#	ITEM DESCRIPTION	APPROX. QTY.	UNIT	UNIT PRICE	COST	UNIT PRICE	COST	UNIT PRICE	COST	UNIT PRICE	COST
AA2-1	Barricades, signs, & traffic handling	1	L.S.	\$8,000.00	\$8,000.00	\$1,400.00	\$1,400.00	\$6,833.20	\$6,833.20	\$5,000.00	\$5,000.0
AA2-2	Lining of CMP (Circumference)	4950	S.F.	\$29.00	\$143,550.00	\$35.00	\$173,250.00	\$30.60	\$151,470.00	\$20.29	\$100,435.50
N/A	Add Alt. No. 1 Items AA1-2, 3, and 5	N/A	N/A	<u></u>	\$17,225.00		\$6,028.00		\$7,884.50		\$6,350.0
	TOTAL ADD ALTERNATE NO.2:				\$168,775.00		<u>\$180,678.00</u>		\$166,187.70		\$111,785.50
				0	THER TO	TALS					
TO	TAL BASE BID + ADD ALTERNATE	NO. 1:			\$214,704.00		\$218,878.00		\$263,442.00		\$153,750.4
TO	TAL BASE BID + ADD ALTERNATE	NO.2:			\$309,054.00		\$340,428.00		\$359,196.90		\$229,685.9
ТО	TAL ALTERNATE BID + ADD ALT. 1	NO. 1:			\$270,029.00		\$270,828.00		\$308,777.90		\$192,575.4
m c	TAL ALCOHOLIST DID A ADD ALCOHOLIST DID	VO 2			0264 220 02		0202.250.00		0404 720 00		00/0 #10/
TO	TAL ALTERNATE BID + ADD ALT. I	NO. 2:			\$364,379.00		\$392,378.00		\$404,532.80		\$268,510.9